& Manuals+

Home » CaravanMods » CaravanMods RV Pole Carrier Complete Kit Installation Guide =

Contents [ hide ]

1 CaravanMods RV Pole Carrier Complete Kit
2 Product Usage Instructions

3 INTRODUCTION

4 INCLUDED COMPONENTS

5 FITTING INSTRUCTIONS

6 Warranty Against Defects

7 Frequently Asked Questions

8 Documents / Resources

8.1 References

CaravanMods

.COm.au

QUALITY GEAR
DELIVERED FAST AUSTRALIA WIDE

CaravanMods RV Pole Carrier Complete Kit


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/caravanmods
https://manuals.plus/caravanmods/rv-pole-carrier-complete-kit-manual.pdf

.

Product Specifications

Brand: Coast to Coast RV Pole Carrier
Model: RV Pole Carrier
Material: PVC tube, steel brackets

Hardware: Long bolts, lock pins, lynch pins, M8 and M6 nyloc nuts, short M6

clamping bolts
Product Usage Instructions

Installation Steps

Remove the tube clamps from the box and cut the cable ties holding them closed.
Fit the long bolts to the tube brackets.

Remove 1 end cap from the PVC tube and slide the brackets over the tube.

> 0 b~

Refit the removed end cap and secure the lock pins and lynch pins over both end

caps.

5. Select the desired position on your mounting surface, place the tube and bracket
assembly in place, and secure with M8 Nyloc nuts.

6. Fit the short M6 clamping bolts to the carrier brackets with M6 nyloc nuts.

7. Ensure all hardware is accessible and protected, and fasten the nuts until tight.



Repeat on both ends.

Completion

Congratulations! Your installation is complete. Enjoy using your new Coast-to-Coast
RV Pole Carrier.

INTRODUCTION

Before commencing, please check that you have received a full kit with all the hardware

pictured below.

INCLUDED COMPONENTS
o SR WPVCTUBE
- l 2x TUBE CLAMPS
et 4x M8 NYLOC NUT FOR LONG CLAMP BOLTS
2x LOCK PINS ( ,F 4x M8x180mm CLAMP BOLTS
( E) | 2x TUBE CLAMP PLATES
L
2x LYNCH PINS,, r—1 2x M6 NYLOC NUTS FOR SHORT CLAMP BOLTS

@ ' I“H 2x M6x60mm SHORT CLAMP BOLTS

Jju-

FITTING INSTRUCTIONS

1. Remove the tube clamps from the box and cut the cable ties holding them closed.

2. Fit the long bolts to the tube brackets as pictured here.



H.—,,__-t

3. Remove 1 end cap from the PVC tube and slide the brackets over the PVC tube,
avoiding scratching the tube.

4. Refit removed end cap. Fit the lock pins and lynch pins over both end caps so as not

to lose or drop/damage them.

5. Select the desired position on your A-Frame or other mounting surface.
o Place the tube and bracket assembly in place and fit the bracket plates using the
matching M8 nyloc nuts from your kit.

o When happy with the position, fasten the nyloc nuts until tight. Repeat on both



ends.

6. Fit the short M6 clamping bolts to the carrier brackets with the matching M6 nyloc
nuts. After a final check of fitment, ensuring the pole carrier is in the desired position
and all hardware is accessible and protected where possible (we recommend placing
hardware away from the direction of travel wherever possible), fasten the nyloc nuts
until tight.

e Repeat on both ends.

This completes your installation



Enjoy your new Coast to Coast RV Pole Carrier.

Warranty Against Defects

1. WHAT THIS WARRANTY RELATES TO

o This warranty covers goods supplied by Coast RV Pty Ltd T/A Coast to Coast RV
Services (“Supplier”) to the Client (“Goods”) and relates to any defects in
materials and workmanship under normal use and maintenance (“Defect”).

2. WHAT THE SUPPLIER WILL DO TO HONOR THE WARRANTY

o The Supplier will:

1. replace or repair the Goods or the defective part of the Goods free of charge;
2. arrange for the Goods or the defective part of the Goods to be repaired or
replaced by a qualified repairer free of charge.

o The Supplier reserves the right to replace defective parts of the Goods with parts
and components of similar quality, grade or composition where an identical part or
component is not available.

o Goods presented for repair may be replaced by refurbished goods of the same
type rather than being repaired. Refurbished parts may be used to repair the
goods.

3. WHAT THE CLIENT MUST DO TO CLAIM THE WARRANTY
o To claim the benefit of the warranty, the Client will need to (sequentially)
1. First, contact the Supplier, and
2. present the defective Goods to the Supplier for inspection, including

inspection for defective workmanship, or otherwise provide evidence of the



claimed Defect, accompanied by evidence of proof of purchase and date of
delivery, and if applicable, evidence of maintenance performed under the
relevant maintenance schedules.

e The claim listed in clause 3.1 may be made in person, or the claim may be sent to
the address listed on this form, including the particulars required under clauses
3.1(i) and 3.1(ii).

o The appropriate form for making a warranty claim is as attached.

4. DURATION OF WARRANTY

o This warranty will cease:

1. where the Goods are purchased already fitted in or as a component of a
vehicle or RV, from the date that is twelve (12) months after the Client takes
delivery of the vehicle or RV; and

2. where the Goods are purchased separately or as an after-market item: from
the date that is twelve (12) months from the date of purchase..

o If a Defect does not materialise in the Goods before the date provided in clause
4.1, the Supplier will have no liability to the Client under this warranty.

5. RESPONSIBILITY FOR COSTS OF CLAIM UNDER THIS WARRANTY

« The Supplier is responsible for the costs directly associated with repairing or
replacing the Goods in accordance with clause 2.1 only.

o Any works required to be completed in addition to fixing the Defect are the
responsibility of the Client. Additional works includes any costs associated with
any testing or repair of the Goods or any goods to which they are fitted,
undertaken by a third party in relation to any defect without prior authorisation
from the Supplier.

e Where it is determined that the Goods do not have a Defect, the Client will be
charged a GST exclusive inspection fee of forty-five dollars ($45.00AUD in
Australia or $45.00NZD in New Zealand) plus freight costs for the return of the
Goods, which is subject to change without notice.

e The cost of delivery and insurance of the Goods to and from the Supplier, travel
costs to and from the Supplier, and the cost of inspecting and testing the Goods
are the sole responsibility of the Client.

o« WARRANTY LIMITATIONS

e The Supplier makes no warranties or representations other than those set out in

this warranty document, except as is required by law.



o The Supplier will not be liable under this warranty:

1. to the Client or any other person for any consequential, direct or indirect loss,
damage or costs incurred or suffered by the Client or any other person,
including but not limited to damage to persons, other property, loss of
turnover, loss of profits, loss of business or goodwiill;

2. to the Client for transportation or travel costs, which are the Client’s
responsibility;

3. for damage or defects in any Goods caused by improper transportation,
storage or any other misuse, neglect or accident.

4. for the installation of the Goods. Any fault or defect due to installation should
be referred to the installer. The Goods must be installed under the
Manufacturer’s instructions and any relevant legislation or code.

o This warranty covers the Client only and it is not transfer able if the Goods are

sold by the Client during the warranty period.

WARRANTY EXCLUSIONS

This warranty will not apply where:

. The Goods have been improperly modified or repaired, or the Goods’ defect has
arisen due to the Client’s failure to properly install, fit, maintain, service or use the
Goods according to the specifications and instructions provided by the

. Manufacturer, including a failure to comply with the relevant maintenance schedule

(where applicable);

3. The Supplier cannot establish any Defect in the Goods after testing.

. The Goods have been used other than for the purpose for which they were designed.

5. The Goods have been subject to abnormal conditions, including but not limited to

temperature, pressure, stress, load or similar;
. The Client or installer has used or fitted non-genuine or non-approved parts and
accessories to the Goods or has failed to use recommended parts and accessories;

. The Good’s defect has arisen due to abuse, misuse, neglect or accident;

8. The Goods have not been installed under the relevant instructions.

9. The Goods’ defect is caused by use or fair wear and tear of the Goods (or expendable

parts).



RIGHTS AT LAW

e The benefits given to the Client under this warranty are in addition to other rights and
remedies of the Client at law concerning the Goods.

 In Australia, our Goods come with guarantees that cannot be excluded under the
Australian Consumer Law. You are entitled to a replacement or refund for a major
failure and for compensation for any other reasonably foreseeable loss or damage.

e You are also entitled to have the Goods repaired or replaced if the Goods fail to be of

acceptable quality and the failure does not amount to a major failure.

Warranty Claim Form

Coast RV Pty Ltd trading as Coast to Coast RV Serv

ices
Warranty Providers Name

ABN 49 097 104 492 — ACN 101 461 330

PO Box 6287, Silverwater NSW 1811 Australia OR;

Warranty Providers Address | PO Box 58-054 Botany AUCKLAND 2163 New Zeal

and
Client:
Contact No.
Description of Goods provid
ed
Receipt enclosed: (tick box)
YES NO

Receipt No:




Description of defects

(Give as much detail as possibl
e. Use a separate page if requi

red.

Date of purchase/services pr

ovided

« | hereby declare that the information provided above is true and correct, and to the
best of my knowledge and belief, | have complied with all the conditions of the
warranty.

e SIgNeA: ... e

0 N M o e

(Please print)

[
O
Q
—
(1]
o

Please note, the issue or completion of this form by the Client does not constitute an

admission of liability by the Supplier.
For more information, visit thelandscapestore.com.au
e 0291613939

Frequently Asked Questions

e Q: How long does the warranty last?
o A: The warranty lasts for twelve (12) months from the date of purchase unless the
goods are purchased already fitted in or as a component of a vehicle or RV.
e Q: How can | claim the warranty?
o A: To claim the warranty, follow the steps outlined in the warranty document
provided by Coast RV Pty Ltd.
o Q: What limitations are there to the warranty?
o A: The supplier will not be liable for warranties or representations other than

those specified in the warranty document.

Documents / Resources



http://thelandscapestore.com.au

CaravanMods RV Pole Carrier Complete Kit [pdf] Installation Guide
wemiamon | RV Pole Carrier Complete Kit, RV Pole, Carrier Complete Kit, Complete Ki

t, Kit

References

¢ User Manual

® CaravanMods, Carrier Complete Kit, Complete Kit, Kit, RV Pole, RV Pole Carrier Complete
mm CaravanMods  Kit

Leave a comment

Your email address will not be published. Required fields are marked *

Comment *

Name

Email

Website

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment



https://manuals.plus/m/fe578c731d3c07830d384e2b6320757f2d82fe6463588f97870f18d513354651
https://manuals.plus/m/fe578c731d3c07830d384e2b6320757f2d82fe6463588f97870f18d513354651
https://manuals.plus/m/fe578c731d3c07830d384e2b6320757f2d82fe6463588f97870f18d513354651_optim.pdf
https://manual.tools/?p=17076541#MTQ4LjExMy4yMTAuMjUwOzY2LjI0OS42Ni4xNjksIDE3Mi43MS4yMjMuMzcsIDEwNC4xMzEuMTY5LjExNTsxMDQuMTMxLjE2OS4xMTU7NjYuMjQ5LjY2LjE2OTs=
https://manuals.plus/category/caravanmods
https://manuals.plus/tag/caravanmods
https://manuals.plus/tag/carrier-complete-kit
https://manuals.plus/tag/complete-kit
https://manuals.plus/tag/kit
https://manuals.plus/tag/rv-pole
https://manuals.plus/tag/rv-pole-carrier-complete-kit

Search:

e.g. whirlpool wrf535swhz

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos
are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

	CaravanMods RV Pole Carrier Complete Kit
	Product Usage Instructions
	INTRODUCTION
	INCLUDED COMPONENTS
	FITTING INSTRUCTIONS
	Warranty Against Defects
	Frequently Asked Questions
	Documents / Resources
	References

	Leave a comment

